
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Negative Exponents of 10 (Power of 10)

593.1 ÷ 10 =(−4) 6 × 10 =2

10 =(−3) 10 =(−2)

1 × 10 =0 2 × 10 =

10 =(−3) 137.1 × 10 =(−3)

100.4 ÷ 10 =(−4) 283.8 ÷ 10 =(−4)

269.3 × 10 =(−3) 10 =(−2)

10 =(−4) −2 × 10 =(−2)

−3 × 10 =(−2) 10 =(−2)

3 × 10 = 692.9 × 10 =(−3)

8 × 10 = 309.2 ÷ 10 =(−2)

www.snowmath.com

https://www.snowmath.com


Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Negative Exponents of 10 (Power of 10)

593.1 ÷ 10 = 5931000(−4) 6 × 10 = 6002

10 = 0.001(−3) 10 = 0.01(−2)

1 × 10 = 10 2 × 10 = 20

10 = 0.001(−3) 137.1 × 10 = 0.1371(−3)

100.4 ÷ 10 = 1004000(−4) 283.8 ÷ 10 = 2838000(−4)

269.3 × 10 = 0.2693(−3) 10 = 0.01(−2)

10 = 0.0001(−4) −2 × 10 = −0.02(−2)

−3 × 10 = −0.03(−2) 10 = 0.01(−2)

3 × 10 = 30 692.9 × 10 = 0.6929(−3)

8 × 10 = 80 309.2 ÷ 10 = 30920(−2)

www.snowmath.com

https://www.snowmath.com

